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100,000 * 120 = 1,200
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SN SR
HE: T YHE S 25
B9 2@ NFELI| X4 CERL
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
0 &+ 08
3.E|LAHAIZ S B 1,470
o201 & KAt 70,000 7 *2I4 980
LH. HIOIS & A 70,000& =74 490
(ol AFE ) 18,470,000 *—10% N1,847
202 (4 8,750 0 8,750
01 2| 8,750 0 8,750
1.2 A 350, 000& x25H 8,750
303 EAZ 21,000 18,000 3,000
01 ZAa2 21,000 18,000 3,000
1. 837125 SR 48358 Al WX 0
350,000& x60H 21,000
307 QI2to| A 322,450 470,945 148,495
05 QIZHREZ 250,000 400,000 150,000
1. 22 HEL 20 0SS (EE2)
250,000,000 250,000
07 A2X232 72,450 70,945 1,505
1.22303 (A2 X2) 2,070,000& *35H 72,450
N s 350,232 244,250 105,982
AAHEES2S =4 261,732 199,250 62,482
201 Et23d| 169,032 109,050 59,982
01 AtR22tell 169,032 109,050 59,982
(IEtWEY|) 180,480
1.3¢dE2HURE WS 300,000& x70H 21,000
2.UREAANSRAURE 1S
95,000& 7004 66,500
3.5AA22HUEN= 6,260,000& *3¥ 18,780
45288 HUHE NS 1,400,000& x3H 4,200
5. ZXISEMHsIE s M2 (SH) =
350, 000& x200H 70,000
(Ol AHE 2H) 180,480, 000& *~10% AN 18,048
(2g4+<) 6,600
1. 29 2A=E 6,000,000& 6,000
2.0ls2 HEslus 2AIEE
30,000& *2A| 2+x10L 600
202 (4| 92,700 90,200 2,500
01 2oy 92,700 90,200 2,500
1. SLEHUEE WUF 350,000& x70H 24,500
2. RGN SRINEA UE
70,000& x700H 49,000
3. SAAMRIHUE NS 3,900,000& *3H 11,700
4. 525l HtE L= 2,500,000& *3H 7,500
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04 =Mzt Hl 88,500 45,000 43,500
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6. =283 41,112,000% *4.5% 1,851
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1.9R0tESE 178,446
Jt. BHOAI 199,000& 5~ 123 11,940
Lt 2H1Al 174,500 «21H x 128 43,974
Ch. SE2Al 144 ,000& «20H » 123 34,560
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2H: E2D
Ha: Yy 9 Ys
oel: sl ML (el @g
SAN-ZH-SA(FA) - NFAY - BES O AF K glgaf; HwsZ
EEESEE 70,0002 *9CH 630
MBS 50,0002 *2CH 100
IES-1- = 50,0002 %230} 1,150
Rt A0l R 2 60,0002 *1CH 60
=S 100,0002 * 1CH 100
9t JIEr X 2 100, 0002 *4CH 400
3SR 2 13,850
OhSBXB( - F-4)  180,0002 *50H 900
Lh.Hess 80,0002 *2CH 360
CH&B X2 - & - 4)  350,0002*10CH 3,500
I 2200002 *2CH 440
Oh 4SS 300, 0002 *23CH 6,900
bt 2101 Xt 2 200,002 *1CH 200
=S5 3200002 *1CH 320
OF.JIEbxi 2t 270,002 *4CH 1,080
Bl 50,0002 *1CH 150
4, BEWLRLS 8,470
o BEss 55,0002 *20H 23] 220
L. ogse 180, 00024 *1CH x23] 360
C sz 70,0002 *1CH x23] 340
2. A 90,0002 *8CH *25] 1,440
O E¥ale 110,00024 *2CH x23] 440
P = 85,0002 *23CH x23] 3,910
Ab. QIR 200,0002 *1CH*23] 400
O 24Xt 20000024 *1CH x23] 400
. JIERR 120, 00024 *4CH x23] 960
5. XA (2], 58) 3,609
b, sEXE(H,E, A8) 53,0002 50 265
L. Zess 79,0002 *2CH 158
Ch g se 86,0002 *1CH 86
2. syse 76,0002 *1CH 76
O A8 76,0002 *8CH 608
b EYae 76,000 *2CH 152
A AEEE 76,0002 *23CH 1,748
Of. ZAolxiar 86,0002 *1CH 86
I=ES (1 86,0002 *1CH 86
. JIERR 86,0002 *4CH 344
(o12H]) 119,280
RSP 570, 00021 *2CH « 122 *70% 9,576
2. EHLE 300,000 *2CH * 128 *70% 5,040
3AHEE 160, 00021 * 1}« 122 70% 1,344
458sE 200, 00021 *2CH x 122 *70% 3,360
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SN BRD
o NYHE AY Y5t
o9l BN XL (Sl #)
SH-EH . C(BH) - NRAY - BES Off &F oA gg;ﬁ; bRz
5.0H8 &8t 900,000 *1CH* 122 +70% 7,560
6.5858 450, 00021 *1CH +122 +70% 3,780
74858 300, 0002 *8LH * 122 *70% 20, 160
8.5852 240,000 %20H * 122 +70% 4,032
9. 4852 250, 0002 *230H * 122 +70% 48,300
10. 2401 E2f 300, 0002 *1CH 122 +70% 2,520
1.2 300, 0002 * 1 CH 12 +70% 2,520
12,01 EF X & 330, 0002 *4CH * 122 *70% 1,088
EETIES T 44,118
1 HEXY 70,0002 *2CH 122 +70% 2,856
25858 140,000 *2CH 122 +70% 2,352
34858 120,000 * 104 * 122 +70% 1,008
45858 30,0002 ¥2CH 122 +70% 2,184
5. H& 8 38,0002 *1 CH 122 +70% 1,160
6.5858 90, 0002 *1CH* 122 *70% 756
7. 4858 110, 0002 %8CH * 122 +70% 7,392
8.5852 50,0002 *2CH 122 ¥70% 2,520
9. 4852 100,000 *23CH * 122 *70% 19,320
10. 2401 E 2 54,0002 +1CH* 122 %70% 454
n.2axez 50,0002 *1 CH 122 ¥70% 1,260
12.01Et Rt 2 70, 0002 *4TH * 122 *70% 2,352
kRBIESY: 60, 0002 * 14 * 122 *70% 504
(RHSARQADE 9| 43 AREDH) 8,671
| EEUNSSE 19,0002 90«12 +80% 1,642
2. 4858 15,0002 *1CH*122 +80% 144
3.0gsE 29,0002 * 104 * 122 *80% 279
45858 24,0002 *1CH 122 %80% 231
5. 4858 19,0002 * 16CH * 122 *B0% 2,919
6.5858 25,0002 *6LH 122 *80% 1,440
7. 4852 15,0002 *14CH 122 +80% 2,016
(Ol &= 2) 203,658, 0002 *~10% A20,365
307 LI2H0IE 1,440 0 1,440
05 QI2r9lEra 1,440 0 1,440
|CRABYFENE LUAHALY 29
120,000 %122 1,440
405 THAHE S 23,000 0 23,000
01 RAUSEHSH| 23,000 0 23,000
| ABBE 12015 23,000,002 1H 23,000
HESYol S8 BN 10,755 10,755 0
SEHREDAN L2t 10,755 10,755 0
201 LByl 10,755 10,755 0




SN SR
HE: UMY oYy U
chel: ME2Ho SHE 3 (el &)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
01 AtSR22/Hl 10,755 10,755 0
(get=2Hl) 11,500
1.SE8MREDN &2t 15,000& 1005 1,500
2.SEMREINZH SSAHAMKNEFL S
10,000,000& * 14! 10,000
(=) 450
| ESWRBDNEY S22AY)
5,000 *x3H *302! 450
(ol arE2) 11,950,000 *—10% 21,195
A 228 e 458,164 340,855 117,309
HES FAEE =4 376,464 309,955 66,509
201 LetH| 243,024 197,955 45,069
01 AtR 22/t 18,414 18,828 N414
(get=Hl) 20,460
T.EARISHHEE XL WA 500,000 «5H4 2,500
2. 8N ML ez 4X
35,0003 x5 A #3312 6,300
.EAM 2dHetE HA 3,100,000& *13] 3,100
4. ZBA 2 =2 810,000 »63| 4,860
5.=5+=83 F2A 1,700,000& *23l 3,400
6.5&7 EIIHA =2 300,000& *12] 300
(ol arE2) 20,460,000 *»—10% A2,046
02 23234l 224,610 179,127 45,483
(S3S23LHA) 212,536
.88 RBE= 1,200,000& *23l 2,400
2.uSRY RES 4,000,000 13| 4,000
3. 80123 15,000,000& »12& 180,000
4 M40 ANESLE0ERES 25,200
It E ALK 2,000,000& 123 24,000
L. 2E2E 100,000& «12& 1,200
5. AgotMEsHl & WSHl  120,000& *12l 120
6. =X MAIAE QHAIE AMES
34,000& 23| &+ 123 816
(A2 &Hl=XI8l) 36,130
1.8JIAE2E 7A2cl 13,200
Jrgas d =25 WA
3,000& *1004*12& 3,600
Lh&8TeHED & SO+ wHl
20,000 2504123 6,000
CLOIEtAIE Z2EI(2E, ZEIY, 84 )
300,000& x12& 3,600
2.820 R 2 250,000& <128 3,000
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SN E20
HH: XYY Ay A5
el BAI 228F WA EERCED
_ _ bolEN=
2AH -3 - SH2A(SH) - MEAMY - BHES 0 Ak oH Omnou BlusSZ
3.3 &A STZ2(HMEXN, e, HXHE,
AHI|E) 50,0002« 122 5,400
4.0|EH AEE RXZ2(E2, E2UR E)
700,000 x 122 8,400
5.AEAIEE2 SXl2e 6,130,000 6,130
(e124l) 900
1. HlAZED| H2H| 1,50024%30 £ *20 900
(0l AFE2Y) 249,566,000 *—10% A24,956
307 2I2t0| A 133,440 112,000 21,440
05 plzteer= 133,440 112,000 21,440
1.28AL HASAE 10,000,000 x 122 120,000
2. EA AUAIE HAHE 320,0002 *12” 3,840
3.520 HHEUH 200,000% 122 2,400
4. HA RPOAHAIAH 2 600,0002 * 122 7,200
AL RA B2 81,700 30,900 50,800
201 LBt YH] 900 900 0
02 2229 900 900 0
(A& XHIS XY 1,000
1.0H31 QA AIAZHISXIHl 1,000,000 *14l 1,000
(0 AP 2E) 1,000, 0002 *—10% A100
401 Al&HlL =Yl 80,800 30,000 50,800
01 Al&H] 80,800 30,000 50,800
1.28AL 222 BLEZAHGRAS)
10,000,000 * 14! 10,000
AFRA FHMIIAIE 2222 A 10,000,000 14! 10,000
IABHEZS(Z0EI ) 24 S22 A
5,000, 0002 *1 Al 5,000
4. HA B QM AICH 62,000, 0002 * 141 x90% 55,800
g2 0TV 29 67,878 89,374 A21,496
gl oCTV 22l 67,878 49,374 18,504
201 LBt Y] 67,878 49,374 18,504
02 2229 67,878 49,374 18,504
(B2Z2HA) 54,420
1.8 2 00TV D22
5,00024 11500 A« 128 6,900
2.9t 0TV QlEUsIdE
30,0002 1325 & » 122 47,520
(A& ZHIS ) 21,000
1.8 2 CCTV SAl2t2] 21,000,000 21,000
(ol AP =) 75,420,000 *—10% AT ,542
ZOIRX| Jlgr 23} 728,073 305,573 422,500
= 6,000
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M HEAAD
M NEHESG DBt Y
CHel: HEMDAIAH2H (&te: @2
- _ _ P NE e
2N -3 - c2(3H) - NEME - HES 0] Ao oﬁf@ Hl =2
201 LEI2HH| 26,029 27,800 1,771
02 2Z294| 26,029 27,800 A1,771
(A& EH S X2 4H|) 28,921
1. F=PEEN MRS B 4H| 9,461
ot 2 EH 1,000, 0002 *75CH 8% 6,000
Lt T2l 700, 0002 x50 CH *8% 2,800
Ch. oIt A 172,000 *48LH *8% 661
2.EXNFEANALY 2K B4H|
(59,900,00024+138,338, 8422 ) +8% 15,860
3.2EDOIAIAE X244
30,000, 0002 *12% 3,600
(ol AFE ) 28,921,000 *—10% A2,892
403 AXISHEX=201E 74,558 71,276 3,282
02 ZIIZSOICHSEHHEE AL I 74,558 71,276 3,282
TAZRPHEYEA AL (ARS/N) KX ESH|
78,070,000 7% 5,465
2.2EI|UAAE X 24
957,539,000 *7% 67,028
3.2aFEAAE F oty 700,000 15 700
4L ASHBA AL ST B4 19,500, 000! *7% 1,365
HAAAIAE 2 15, 165 15,516 A351
201 L2 HH| 15,165 11,516 3,649
01 AFR2t2lH] 10,912 2,758 8,154
(2er=2Hl) 12,124
1. X201 Al 200,000 1074 2,000
2.22tY0IMERIH EL/EY
864,000 x 1Al E 864
.eests) AZAAM wH
1,760,000 x 1Al 1,760
4 PEMMAZI HIE 2 DA
250,000 *30H 7,500
(ol at=E 2 12,124,000 *-10% AT1,212
02 2223H| 4,253 8,758 4,505
(A& EHISXH) 4,725
1.82850| SXE23H 17,600, 000! *8% 1,408
2.EHMEATX KX 24H
41,451,000 8% 3,317
(ol AFE 2 4,725,000 x—10% A4T2
SHOIX2H 16,663 29,456 A12,793
201 LEr2HH| 16,663 7,256 9,407
02 Z22%H| 16,663 7,256 9,407
(B2Q2YHA) 812
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SN HEAD
HH: NANLs JUEY
S BEYPALAUSY (el &2
: _ o HEC -
SN EB -GS - MBAY - BES 0 & 24 e HRE2
EEEERNEE 50,0002 *2JH 100
2 MBS MY AANER 712,00024 %17H 712
(AEFBIS ) 17,702
1 EHOIKAAL S22y 17,702
Ob ZHOI X At KX 2 2t
23,500, 0002 *8%+90% 1,69
T ENESE S =R
14,300, 0002 *12%+90% 1,545
ChAMAABSX 24|
17,400, 00021 » 12%+90% 1,880
2h.eB00K S/W RXI2 4
9,790, 0002 * 129%+90% 1,058
O BB HAIAE ST 244
22,028,000 *8%+90% 1,587
B EHOIX D& XAl
920, 3291 * 122 *90% 9,940
(O &= 18,514, 0002 *~10% A1,851
EFEINPS-TE T 212,227 63,603 148,624
201 2sr2 | 62,227 57,603 4,624
02 BB 62,227 57,603 4,624
(BZT2ILHAD 8,400
1. 220 2TABR 700,0002! %122 8,400
(N EZHI R 2 4H) 60,741
| ATEEHRAIAS ST R 4t
39,000, 0002 10%+00% 3,510
2. OHSBRIINAE X%
50,000, 0002 * 10%+00% 4,500
3NRBAALST S 2|
283, 100, 0002 *8%+30% 20,384
SIS EIPNEN-TE S (RN
130,072, 8301 * 12%+90% 14,048
5. GIOIEHHHI 01 A S X 2 2 bl
73,095, 0002 * 12%+00% 7,895
6. 2T A2I0AAL SX LS4
(31,000, 00024 *12%+6,500, 0002 B%) *90% 3,816
7HHTYANAY ST B4
61,000, 0002 * 12%+30% 6,588
(O &= 69, 141,000 *~10% £6,914
405 THAHE St 150,000 0 150,000
01 MALSEFSH) 150,000 0 150,000
12X WSAAA RE 150,000,000 *14] 150,000
Uo2 ATEY N P2 29,376 29,000 376
207 1Tty 26,376 29,000 A2,624
02 F ANy 26,376 29,000 A2,624
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SN HEAYD
o NHLE Jlexy
Cel MEFRAAHNSY (eel: &
o ) - o HAc
N EH - S2A(3H) - MRAE - BES Off &F K Ol AF o8 HusZ
| HRSATE Y 200,0002 «25JH 5,000
p.pCEOIR T2y Y 21,376
b HHOIR ABAATES O Al
16,7202 +80074 13,376
L SeipceorZ2 08 g0l
8,000, 0002 * 14! 8,000
405 XH&HF S| 3,000 0 3,000
01 Xtard 223 SH| 3,000 0 3,000
| SSPCEOIR2l M DA 3,000,0002!+1CH 3,000
NEEE-E-LE 176,330 222,284 45,954
2 63,716
2 112,614
201 Y2 | 176,330 222,284 145,954
2 63,716
2 112,614
01 AFR22/H| 176,330 222,284 145,954
(2eregl) 176,330
LAZRBSI|AIAY 228
99,310,000 99,310
=2 39,125
2 60, 185
2ABPHHFBALY 222
77.,020,0002! 77,020
2 24,591
3 52,429
HE Rl 182,970 89,420 93,550
AT AR 22 12,420 12,420 0
201 Y2y 12,420 12,420 0
02 ZZegl 12,420 12,420 0
(A& ZHIRRY) 13,800
1. ™A S HI QX E | 13,800
o ZEH 900, 0002 *400CH *3% 10,800
Lt TRl 500, 0002 +200CH *3% 3,000
(Ol &) 13,800,000 *~10% ~1,380
SN A2 170,550 77,000 93,550
405 XA+ S 170,550 77,000 93,550
01 Xtard 223 S| 170,550 77,000 93,550
1. ZEE(SLEZS)  1,200,0002 «150CH<90% 162,000
2. mRIE 500,000 * 10CH 90% 4,500
3.UES(RAMN0 U ASHEAS)
1,500, 0002 «3CH =90% 4,080
HESA olZet DT 528,963 472,400 56,563
ESNEY 382,660 359,068 23,592
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SN
X XH .
S Tt

el

b OIEtE S
elxet Nkt

A -3 -H2A(SH) - HEAMY - BES Of &F 2K glggi; Hlns2t
201 Let29y| 382,660 359,068 23,592
02 22294l 382,660 359,068 23,592
(SBSLHA) 399,706
[REIESEENE=2=] 164,700
OF. LerE 3 35,0002 803 & *12& 33,600
LI, ISODN(ZAI2)  4,500,0002 *23] & »12¢ 108,000
&=ty 250,000 x13| & x 128 3,000
H.EUEAER 50,0002 x16CH 122 9,600
Ot TRSAI2 & 35,0002 250« 122 10,500
2.FEIMANER 232,726
Jb.T/0A 3| & 24,0002 *1178] &« 128 33,696
L2018 8saY 177,540
- 2Mbps 423,500 323 &1+ 12€ 162,624
- 4Mbps 373,000 x13| & x 128 4,476
- 512kbps 273,000 x23| & 128 6,552
- 128kbps 108,000 33| & 122 3,888
Ch.olHY (ISP ALERZ
1,310,760 * 13| &+ 128 15,730
o YAMABIIANER
40,0009 *123] &« 12 5,760
. EUSYLUSAER 40,0002 x 128 480
4.H01EAMEE 150,000 * 128 1,800
(Ol atE2) 170,460,000 x~10% A17,046
§ESMNES 89,690 64,500 25,190
405 XHoHE SH 89,690 64,500 25,190
01 XL SEHSH 89,690 64,500 25,190
1,850 2 8,850
Ob. L BtE 3| 30,0002 *50CH 1,500
Lh.CIXIE & 30| 330,0002 *10CH 3,300
ChOXgots 450,000 «20H 900
2t IPE 3D 450,000 *7CH 3,150
2.UELIARY 2 17,800
b HESRA 2t2H 3,200,0002 *1CH 3,200
Lb. A<= (L3-48P) &= 9,000,0002 *1CH 9,000
Ch. A2 (L2-48P) 51= 2,800,000 »1CH 2,800
ot A (L2-24P) 51= 1,400,000 »2CH 2,800
HESAA YWeer)] 1ol 3,800,000 x14] 3,800
4 PYPMAFII(WPS) XX W
3,840,000% 14! 3,840
5.A XA Mg CIXEIHet 2
400,000 14! 400
6.0 DOSE S Al A& 2 55,000, 0002 * 14! 55,000
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SN "B
M o Te JHEA
el 234 oxet NEF (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
FESHANE 29 56,613 48,832 7,781
201 Let2d| 49,613 41,832 7,781
01 AtE22|HI 1,980 1,620 360
(get=gHl) 2,200
L2AESIEHEE (LNE)
100,000 *5CH 23] 1,000
2.SUANELEE 500, 000& »22] 1,000
3.CCTVEEXl HII1= 200,000& » 14 200
(ol aFE2) 2,200,000 *—10% A 220
02 2234l 47,633 40,212 7,421
(OAR=R=1=IE=ON]:[D) 52,925
1. 83t et &l 19,254
Jb. &R Eo| 124,700,000 *6% 7,482
Lt 21 EFEX 27,200,000 *6% 1,632
C.s2na)| 37,840,000 *6% 2,271
ct. REAF] 8,360, 000 *6% 502
OF. ™3I (LB CIXIE,IP)
122,770,000 *6% 7,367
2. UERIANE 19,075
JbURH=E AAX 118,000, 000& *7% 8,260
L. 2R AAX 51,000,000 *7% 3,570
A9 68 81,500,000 *7% 5,705
ch. IPZ2|AIAE 22,000,000& *7% 1,540
3.20Al4 13,314
o 2SSELHI(PH) 43,579,000 *7% 3,051
Lt 2S3tEEI(S) 36,766,000 *7% 2,574
Ch.&tate () 38,800,000 *7% 2,716
ct.usdEsSML 71,032,500 *7% 4,973
4. 2NN AEFI(UPS) 18,305, 120& *7% 1,282
(Ol &HE2E) 52,925,000 *—10% N5,292
401 A EHIL 2048 7,000 7,000 0
01 Al&H| 7,000 7,000 0
1.EASEHANERNE > 7,000, 000& =14 7,000
FRUSE & SH 2 220,294 233,320 A 13,026
Al 44,039
- 176,255
FosE2e 124,696 100,393 24,303
FUSEYRFA 124,696 100,393 24,303
201 Y2 Y| 102,696 100,393 2,303
01 AtS 22l 102,374 100,071 2,303
(er==&Hl) 113,748
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A A&
M. HYSHAAH(HEAE D)
chel: ol | (el a2
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
101 14| 44,198 28,942 15,256
01 B 44,198 28,942 15,256
1. A2t 22 44,198
.53 9,796 *1H 254 2++12& 2,939
Lt.63 8,312 x4 H x25A| 2t 12& 9,975
Ct.73 7,457 x7TH*25A| 2t 128 15,660
ct.8=2 6,682 x6H x25A| 2tx 122 12,028
0+.93 5,9093& x2H *x25A| 2tx 12 3,596
Jl22&tl 73,335 62,424 10,911
Jl2&Hl 73,335 62,424 10,911
201 LBet249H| 9,135 9,600 N465
01 At22telyl 9,000 9,450 A450
(Letedd]) 4,000
1. 22| 200, 000& x20H 4,000
(SHl) 6,000
1 AEAME NG RFRI2S A
5,000& x20H 54 x 12 6,000
(Ol AFE 2H) 10,000, 000& *-10% A 1,000
02 s=s29Hl 135 150 A15
(BZ222YLHA) 150
1.2E= 2503 *50S #1228 150
(Ol AFE ) 150, 000& *—=10% N 15
202 (4 i 58,800 47,424 11,376
01 =2 43,200 35,904 7,296
1. 3B NLRFRIN2HYI
20,000& »15H x 12« 122 43,200
02 EHOAHI 15,600 11,520 4,080
1.SYREFRNEEA I 260,000& x5H «12& 15,600
203 LR F=&H| 4,200 4,200 0
04 2EASIIRF=AH| 4,200 4,200 0
1.2N2SHRFEY| 350,000& x12& 4,200
204 HeLBAY| 1,200 1,200 0
01 I HRHZ Y| 1,200 1,200 0
1. AMZHERFEY| 100,000& *12& 1,200




